6. Circular hole in an infinite
plate
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6a. Elastic stress, in-plane normal
stress
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(al) Uniaxial stress,g, =0
G4 = 307 op = —0;
(a2) Biaxial stress, oy, =0,
oy =0g = 20,
{a3) Biaxial stress, 0, = —0, (pure shear)

04 = —0p = %QH

6b. Elastic stress, out-of-plane
bending

Note: M, and M, are unit
moments. See Table 11.2.

(b1l) Simple bending, M, =0
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(b2) Cylindrical bending, M, = vM,
6M.
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where K, = 1.85 +

(b3) Isotropic bending, M, = M,

6M,
w=k=

where K, = 2 (independent of r/¢)

(Refs. 1 and 26-30)

7. Central circular hole in a
member of rectangular cross
section
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7a. Elastic stress, axial tension

Omax = 04 = K;Onom
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where o, =

(Refs. 5 and 25)




